[ Efficien

cy vs vertpos |

~ 0.5

20.45
2
2 04
(&)
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

effic

1.0

Ratio

R R LRRRN RARRNRRRRE AR AE LA MRS LR AR LRRRN LALR

o
©
a

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT _original_lowpt

Effici —e— DQM_TT_newbranch_lowpt_pLess
iclend _, DQM_TT_newbranch_lowpt_pLessMVACand

~ 0.5
20.45F
o
>
2
50.35F
0.3F
0.25F
0.2
0.15F
0.1+
0.05

effic

................................................

Vs

Ratio
N

0.95!

TP vert z (cm)

[ Efficiency vs. sim PV z |

~N 0.5
>
B.0.45
1S
175} 0.4
20.35

&
c 0.3
2
Q

D
TT T T TTTT

15

EERREEE B - :I

0955

Sim. PV z (cm)



	Contents
	Page 1


